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# 2 ETES R 165 HERISHETS
W # B TRi29F11A168 (K)  (BAALEERS 9:31
B AL 15 PR =HETHRIG 01EE
xEtEE (M) FE M) B 1K il BR{f 4% (F3)
7,040,000 7,040,000 6,169,740
E3 & % A HoB|@m f# %
1 |(KiEgsHutat BEEEM 6,950,000
2 |IEHFRRIZHKAME FE 6,930,000
3 |W4RT) kAR &I 6,990,000
4 (RRXSHEATFTA KIE 7,000,000
5 [ARS#/MELEIR XIE 6,960,000
6 (MARUXEIHEE XIE 221
7 |BRAEHENLKR KIE 6,900,000 |%#L
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1 % RTER#R23SHEREBHEIE (T02)
M 4 B FRE295F11A16H (K) 9:50
B AL 15 FR =HETHRIG 401EE
xEtEE (M) FEMHE(FE) B 1K il BR{f 4% (F3)
8,000,000 7,013,624
E3 & % A % (M) f# x
1 | EHERI &A= KIE 7,015,000 |%#L
2 V4R kAR AIE 7,200,000
3 |BRRXEHAFTA KIE 7,750,000
4 (BRSE/PMELRIE KIE 7,800,000
5 | ARHFRERTIE =FEXRM 7,700,000
6 |HRSHAMER XE 7,040,000
7 |EREHSEVYIIE =FEEM 7,770,000
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M L B FRR29F11A16H (K)  |BAALESR 10:12
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sxaTEE (F1) FE (M) B 5 il BR ff 4% (F3)

2,276,000 2,276,000 m

* A % A 8 fi& %

1 |FUEEH#XE 2,270,000

2 |[BRXEH=R 2,268,000

3 [RVAMLNRRIEFARBEH =FXE 2,180,000 |3% #L,

4 |BRASHOFS R

5 [/7TREHRXEH 2,260,000
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(] TR29F11H168 (K) 11:10
B AL 15 PR =HETHRIG 01EE
xEtEE (M) FEAMAE(FE) B 1K il BR{f 4% (F3)
3,782,883
% A B (M) f# %
1 (KiEgsHutat BEEEM 4,160,000 |% 4L
2 (ARSHTILTHRELE KIE 4,230,000
3 |BRRXEHAMIEE XIE 4,200,000
4 |BASUHXBEIBE XIE TR
5 |ARSHAIMER K 4,320,000
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B AL 15 PR =HETHRIG 401BE
xEtEE (M) FE M (FE) B 1K il BR{# 4% (F3)
1,800,000 1,800,000 i
E 3 & % A HoB|@m f# %
: g;ﬁ?*ta*ﬁnﬁ:ywbayh 5ES 1,080,000
2 |BRXRHEBXRLYTR BEEEM 1,730,000
3 |BRREHVIFRKAE BEZEM 1,720,000
4 ;a*iﬁ*%ﬁ]ﬁﬂéﬁ%ﬁ JERIRE % 800,000 | 4L
5 [BRXEHY RS AERXE 1,720,000
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B AL 15 PR =HETHRIG 01EE
xEtEE (M) FE M (FE) B 1K il BR{f 4% (F3)
2,970,000 2,673,000
E3 & % A B (M) f# %
1 (ARStFEHREEIE ZFEXM 2,910,000 |%#L
2 |BRASHKRMER &KIE 2,955,000
3 [ARS#EHERE KIE 2,960,000
4 |ARSHIEVYIIE =ZFEEM 2,970,000
5 |RAHEMLEKR KIE 2,946,000
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